The principal, Ismail Yusuf College of art Sciences & Commerce Jogeshuan (Fost). Date 3- 18th Nov 2020. Sub: - Application for To (Transfer Certificate) My name is nutan suresh Rane. I am a Student of this college for last 3 Years. In the Year 2017 I am getting admission in this college. in 2020 1 complete my TYBcom / Now I have to study of moom through distance and open learning for this I want transfer gertificate. I shall be highly obliged to You! Thanking You!



UNIVERSITY OF MUMBAI

Institute of Distance and Open Learning

Dr. Shankar Dayal Sharma Bhavan,

Vidyanagari, Santacruz (east), Mumbai-400098

Application for Transference Certificate from the last attended College / University Department

From:

College Code: 279

Shri / Smt. /Kum. .

RANE (Surname) NUTAN

SURESH

SUREKHA

Residential address of the

(Own Name) (Father's/Husband's Name) Room No 3 Pednekar Chawl Gandhi Nagar E Ward Jogeshwari East, 0, Andheri, Mumbai Suburban,

(Mother's Name)

Mumbai, Maharashtra

Pincode: 400060

Contact no. 9167609246

To,

The principal / head of the University Dept

(Full Name and Address of the last attended College / University Dept.): ISMAIL YUSUF COLLEGE OF COMMERCE,

Ismail College Camps, Natwar Nagar, Jogeshwari East, Mumbai, Maharashtra 400060

I am to state that I have taken provisional admission to the M.Com I class in Institute of Distance and Open Learning of the University of Mumbai on the basis of the No Objection Certificate dated Issued to me by the College / University Dept.

I attended the Three Year Degree Course Class (Roll No. 2017016400035771) during the First/Second Terms of the Academic year 2017-2018 at your College and (passed/failed/was awarded A.T.K.T.) at the examination held by the University Dept. / College in October 2020 Examination (Seat No. 1011516)

My Date of Birth is 06/12/1999

I am enclosing the attested Xerox copy of the mark-sheets of the above mentioned examination/s.

I am to request to sent my Transference Certificate directly to the Director, Institute of Distance and Open Learning, University of Mumbai, Vidyanagari, Santacruz (East), Mumbai - 400 098 at the earliest.

Thanking You,

Verified by

Yours obediently

Date:



(Student's Signature)





PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 18-Nov-2020

e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUD8441937
Category	BONAFIED NOC AND T C FEES
FIRST NAME	NUTAN
MIDDLE NAME	SURESH
LAST NAME	RANE
DATE OF BIRTH	6/12/1999
GENDER	FEMALE
CATEGORY	GENERAL
MOBILE NO	9167609246
COURSE	всом
BONAFIED FEES, NOC FEES, T C FEES	100
Transaction charge	0.00
Total Amount (In Figures)	100.00
Total Amount (In Words)	Rupees One Hundred Only
Remarks	BONAFIED FEES, NOC FEES, T C FEES
Notification 1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100
Notification 2	PRINT COPY AND SUBMIT TO COLLEGE





Government of Maharashtra's Ismail Yusuf College of Arts Science and Commerce

Jogeshwari East, Mumbai - 400 060

(Affiliated to University of Mumbai)

GRADE CARD



Student Id 6450

SEMESTER -- I

PROGRAMME : B	SACHELOR OF COMMER	CE				way a selection		SEME	SIEK :- I	
PR	N/Reg. No.	Examination Seat No.		Name of the Learner				Month & Year of Examination		ination
20170	16400035836	B - 17232		/ RANE NUTAN	SURESH SURE	КНА		Month & Year of Regular ATKT its Grade Points) (G) 6 4 4 4 6 8	rKT March	2018
			Course		Grade		Credits		CG=	SGPI=
Course Code	a¥*	Course Title	Credits	TH/PR	IA			President Control	C x G ECG /	
UBCOMFSI.1\$\$	ACCOUNTANCY AND FI	NANCIAL MANAGEMENT - I\$\$	3	В\$		В	3	6	18	
UBCOMFSI.2\$\$	COMMERCE - I (BUSINI		3	D\$	(1 -0	D	3	4	12	
UBCOMFSI.3\$\$	BUSINESS ECONOMICS	5 - I\$\$	3	D	-	D	3	4	. 12	
UBCOMFSI.4\$\$	BUSINESS COMMUNICA	ATION - I\$\$	3	D\$		D	3	4	12	5.20
UBCOMFSI.5\$\$	ENVIRONMENTAL STUD	DIES - I\$\$	3.	В		В	3	6	18	
UBCOMFSI.6\$\$	MATHEMATICAL AND S	TATISTICAL TECHNIQUES -	3	A\$		Α	3	8	24	
UBCOMFSI.7\$\$	FOUNDATION COURSE	- I\$\$	2	D\$	D\$	D	2	4	08	
	Successful		20		Earned Cred	its : 20			ΣCG= 104	SGPI= 5.20
SEMI Credits Earned = 20	ESTER I SGPI = 5.20 Cr	SEMESTER II edits Earned = SGPI =		EMESTER III SGP	I = Credits E	SEMESTER IV	SGPI =	Overall	Grade =	С

Place : Mumbai

Date: 16 May 2018

Checked By:

Chairperson, Exam. Comm

rson, Exam. Comm Seal of the College

SO Way had

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

P.T.O.



Government of Maharashtra's Ismail Yusuf College of Arts Science and Commerce

Jogeshwari East, Mumbai - 400 060

(Affiliated to University of Mumbai)





Student Id 6450

PROGRAMME : E	BACHELOR OF COMMI	RCE						SEME	STER :- II	
PR	N/Reg. No.	Examination Seat No.	Name of the Learner				М	onth & Yea	ar of Exam	ination
20170	16400035836	B - 17232		/ RANE NUTAN	SURESH SURI	EKHA		Regula	ar April 20	18
Course		Course Title	Course		Grade		Credits	Grade	CG=	SGPI=
Code		Course Title	Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)		ΣCG /
UBCOMFSII.1\$\$	ACCOUNTANCY AND F	3	Α		А	3	8	24		
UBCOMFSII.2\$\$			3	Ď	,	D	3	4	12	
UBCOMFSII.3\$\$	BUSINESS COMMUNIC	CATION - II\$\$	3	D	A pro-	D	3	4	12	
UBCOMFSII.4\$\$	BUSINESS ECONOMIC	'S - II\$\$	3	В	74-1	В	3	6	18	5.30
UBCOMFSII.5\$\$	ENVIRONMENTAL STU	DIES - II\$\$	3	D	P (5)_1	D.	3	4	12	
UBCOMFSII.6\$\$	MATHEMATICAL AND S	3	В		В	3	6	18		
UBCOMFSII.7\$\$	FOUNDATION COURSE	- II\$\$	2	С	С	С	2	5.	10	
Remarks: S	Successful		20	15 1 E	arned Cred	its : 20	A	18	ΣCG= 106	SGPI= 5.30
SEME: Credits Earned =	STER I SGPI = C	SEMESTER II redits Earned = 20 SGPI = 5.30	입니네[편집] [바라고등문문] [1]. [1556) [25	MESTER III	= Credits E	SEMESTER IV	SGPI =	Overall	Grade = 0	С

Place: Mumbai

Date: 12 May 2018

Checked By:

Chairperson, Exam. Comm

Seal of the College

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

P.T.O.



University of Mumbai

Government of Maharashtra's

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

SUBURBAN, HARDEVI SOCIETY, NATWAR NAGAR, JOGESHWARI EAST, MUMBAI, MAHARASHTRA 400060





Student Id 393553

PROGRAMME	BACHELOR OF COMMER	CE		A COLOR	1 tit			SEME	STER : IV	
o PR	N/Reg. No.	Examination Seat No.		Name of the Learner Month				onth & Ye	ar of Exam	ination
20170	016400037433	272	,	RANE NUTAN	SURESH SUREK	(HA	RE	Month & Yes REGULAR MA dits Grade Points (G) 00 7 00 8 00 4 00 4	IARCH 2019(100)	
Course			Course		Grade		Credits Earned		CG=	SGPI=
Code	Course Title		Credits	TH/PR IA		OVERALL	(C)		CxG	ΣCG /
UBCOMSSIV.1\$	ACCOUNTANCY AND FIN	ANCIAL MANAGEMENT - IV\$\$	3.00	B+		В+	3.00	7	21.00	
UBCOMFSIV.2\$	FINANCIAL ACCOUNTING	8 & AUDITING-II \$\$	3.00	A		A	3.00	8	24.00	
UBCOMFSIV.3\$	COMMERCE-IV I\$\$		3.00	D		D_	3.00	4	12.00	Marian Salan Marian
UBCOMFSIV.4\$ \$	BUSINESS ECONOMICS -	· IV\$\$	3.00	D		D	3.00	4	12.00	5.55
JBCOMFSIV.5\$ \$	BUSINESS LAW - II\$\$		3,00	c	137	C	3.00	5	15.00	•
UBCOMFSIV.6\$	ADVERTISING- II \$\$		3.00	C		С	3.00	5	15.00	
JBCOMFSIV.7\$ \$	FOUNDATION COURSE -	IV\$\$	2.00	C	A +	В	2.00	- 6	12.00	
Remarks : S	UCCESSFUL		20.00	DUES	Earned Credi	ts : 20.00			ΣCG= 111.00	SGPI= 5.55
SEM edits Earned = 2	ESTER I 0.00 SGPI = 5.20 Credi	SEMESTER II standard = 20.00 SGPI = 5.30	SEN O Credits Earned =	MESTER III	= 6.15 Credits Ea	SEMESTER IV	SGPI = 5.55	Overall	Grade =	C

Place : Mumbai

Date: 10/06/2019

Checked By

Chairperson, Exam. Committee



Seal of the College

F: Head of Failure, AB: Absent, ---: Not Applicable, @: \$043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



University of Mumbai

Government of Maharashtra's

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

SUBURBAN, HARDEVI SOCIETY, NATWAR NAGAR, JOGESHWARI EAST, MUMBAI, MAHARASHTRA 400060





Student Id 393553

ROGRAMME	: BACHELOR OF COM	MERCE						SEME	STER : II	
PR	RN/Reg. No.	Examination Seat No.		Name of t	he Learner		Мс	onth & Yea	ar of Exam	nination
2017	016400637433	C 3118	1	RANE NUTAN S	URESH SURE	(HA		ATKT MAR 2019 (100)	
Course	rse		Coarse		Grade		Credits Earned	Grade	CG=	SGPI= ΣCG /
Code		Course Title	Credits	TH/PR	IA	OVERALL	(C)	(G)	Points C x G	
	A GOOD IN ITALIAN AND		START SPORTS STARTED S		Company of the Company		THE RESERVE WHEN THE	THE STATE OF STATE	China Cara	

Course		Coarse		Grade Earned Points		Earned Poin		CG=	ΣCG /
Code	Course Title	Credits	TH/PR	IA	OVERALL	(C)	(G)	CxG	ΣC
UBCOMSSIII.1 \$\$	ACCOUNTANCY AND FINANCIAL MANAGEMENT - III\$\$	3.00	A+\$		A+	3.00	9	27.00	e de la composition della comp
UBCOMSSIII.2 \$\$	FINANCIAL ACCOUNTING & AUDITING -I\$\$	3.00	A\$) (>1	A	3.00	8	24.00	
UBCOMSSIII.3 \$\$	COMMERCE - III\$\$	3.00	Ď\$	///-	D	3.00	4	12.00	
UBCOMSSIII.4 \$\$	BUSINESS ECONOMICS - III\$\$	3.00	В		В	3.00	6	18.00	6.15
UBCOMSSIII.5 \$\$	BUSINESS LAW - III\$\$	3.00	В	37	В	3.00	6	18.00	
UBCOMSSIII.6 \$\$	ADVERTISING\$\$	3.00	D\$	3	D	3.00	4	12.00	
UBCOMSSIII.7	FOUNDATION COURSE - III\$\$	2.00	D\$	O\$	В	2.00	. 6 	12.00	
Remarks : S	SUCCESSFUL	20.00	ISUFY	Farned Credi	its : 20 00			ΣCG=	SGPI=

Remarks : SUCCESSFUL

20.00 SUCCESSFUL

20.00 SUCCESSFUL

SEMESTER II SEMESTER III SEMESTER IV

SEMESTER IV

SEMESTER IV

SEMESTER IV

SEMESTER IV

Credits Earned = 20.00 SGPI = 5.20 Credits Earned = 20.00 SGPI = 5.30 Credits Earned = 20.00 SGPI = 6.15 Credits Earned = --- SGPI = --- Overall Grade = B



Place: Mumbai Date: 23/04/2019 Checked By:

mohark

Chairperson, Exam. Committee



Sea! of the College

Druin.

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



University of Mumbai

GRADE CARD

CCF: 0086: 0144

NAME

: /RANE NUTAN SURESH SUREKHA

EXAMINATION: Third Year B. Com. (Semester-V) (CBCGS)

HELD IN

OCTOBER 2019

SEAT NUMBER: 3064475

PRN: 2017016400035771

COURSE	COVERS TO THE	COURSE		GRADE	,	CREDIT		Active to the second
CODE	COURSE TITLE	CREDITS		IA	OVERALL	EARNED (C)	POINTS (G)	CXG
23114	Commerce-V	3	F		F		****	full net
23113	Business Economics-V	3	D		D	3	4	12
23101	Fin. Acc. & Aud. VII- Financial Accounting	4	B+		B÷	4	7	28
23107	Fin. Acc. & Aud. VIII- Cost Accounting	4	Α		A	4	8	32
23115	Direct and Indirect Taxation Paper -I	3	A+		A+	3	9	27
23116	Export Marketing Paper-I	3	C		С	3	5	15
								, a
	TOTAL	20				17		

Remark: UNSUCCESSFUL

Result Declared on: NOVEMBER 22, 2019



DIRECTOR BOARD OF EXAMINATIONS & EVALUATION

A revalphoto.mu.ac.in/marksh





CCE:86:1011516

indmufft do gliersdink

CERTIFICATE SHOWING THE RESULT OF THE CANDIDATE



Examination Third Year B.Com. (Semester-VI) (CBCS) : V RANE NUTAN SURESH SUREKHA

: OCTOBER 2020 Held In

(17728000b3107102MA9) 3121101:

(3)	SUF	(3)
SMAIL		FOE
1	MUMP	ALL OF THE PARTY O

в×э	ebsið strioq (5)	Grade	Credits (C)	Marks	Minimum Marks	Maximum Marks	Course Title	esino)
27.00	6	+∀	3.00	9/	0Þ	001	Commerce-	B301¢
30 00	OL	0	3.00	Z 6	O †	001	Business Economics-	83013
00 [.] 04	OL	o	4.00	08	Ot	oor	VI Financial & Accounting & Auditing IX-	F00E8
35 00	8	٧	007	09	Ot	001	Accounting Financial Accounting & Auditing X-Cost Accounting	70088
30.00	or	0	3.00	Z 6	OP.	cor	Direct & Indirect Taxonion Il-paper	\$108
30.00	OL	0	3.00	96	or or other control co	001	Export Marketing Paper-II	91088
0.68r			20.00	96t		009	GNA99 JATOT	

BOARD OF EXAMINATIONS AND EVALUATION DIRECTOR

Sem VICRED: 20.00 SGPA:

Sem III CRED: 20.00 SGPA:

This mark statement is provisional and may change. This is issued for immediate information to student.

Sem. V CRED: 20.00 SGPA:

Sem II CRED: 20.00 SGPA:

CCPA: 6.35

111

Result Declared On : OCTOBER 29, 2020

Remark : SUCCESSFUL

Sem. IV CRED: 20.00 SGPA:

Sem I CRED: 20.00 SGPA-